I\EZMESHEER R0 inE

— EEFEE (BE 25, 245, Bk BAINEIFED)

mes |01 | 2 | 3 | 4 | 5| 6 | 7 |81 9 |10 | 11| 12
Z=% | ¢ | p| B | ¢ | A | D| B | B| A|] C | A | D

—EEE (KEEE S NMNE, BE 1, H1059)
13, }{3h; &K 14, 37.5C  385C (AAM T LR L5 15. G—f >

A1 B4R IEE 16 4.9 17. & 4K
=, FES=Em (KBmEE 4 NDIEE, H 1945
18, (341 19. (241

; 1 OA_A
B \gilr& \
F2 F

1

PR ARAE: 18 MR AT S 1 40, L300 19 FINTERI B & 1498, 324
20, #EHAK  pvg PN

21, (D A HBRAAFEEX SR E () BEM T 08

PEaAnitE: M 20~21 @irf, 25, R 2 55, 14

M. HESRA (FBaefFE 2 M, #1749)

22, f#: HAE A

(1) BEMEAEF: v=Sh=0.2m2x0.5m=0.1m? (14
T B . m=pv=800kg/m>»0.1m’=80kg Q245
(2) KNSR AR AL, R o B 1) TS 0 4% b i =2 0, B
F1=G=mg=80kgx10N/kg=800N (241
(3) 4 JRA HA T 10 3 p=l;—5kg>< 1“”*”'1‘§+3‘3‘U”—4zso I (34
0, 2m

WoatrtE: AERAN, RERFBER, AMin. RATRMRLZH1 7. &30 5 ~IEH,
WABE IR, S5 RHRIN 1 70, HHMTEME, REIEW, FRESHD.

23, filg: (1) $REMAThEA I, M W=Fs=Gh=150N*x4m=600J Q24
(2) HURCR N: =W /W ,=Gh/Fs=600J/800J=75% 24

(3) 20 AT 800), “ETFEahEHEE: 4mx2=8m (149

i W=Fs 1§:  F=W/s=800J/8m=100N Q259

(4) F= (G+G &) 2 18 G 4=2F-G=50N Q25

WoatrtE: AERAN, REREBER, AMin. RIATRMRLZH1 7. &390 5, ~IEH,
WABE IR, S5 RHRI 170, HHMTEME, REIEW, FESHD.

J\EEGY S HE R LVPbrdE 55 100 3k 1 70



